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12.A water tank is in the shape of a right circular cylinder with a i_m—niuﬂ?ﬂuun u
volume of 330w, What is the diameter, in feet, n_m ...__u._..m-. ._“_E._r“.mF m "ﬁ_l-

a. 16 b. 10 3 d.4 Wiy
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13.Which phrase best describes the graph ...& ¥ = -2 457
a, a Ushaped curve that opens upward

b. a U-shapad curve that opens dewnward nuﬁrmﬂﬂﬂﬁ.'l‘_ﬂ__.._ﬂ

@Eﬂ:.s:n_::uainsiz —_— i
d_ a ne that rises from left o right X + 2=l
-1-1
14.\What is the solution to the equation below?

(3 emi ond *w

2% 4] 21x+7)6
xTal

. x=—
15.4 line has wu_nﬁmilu.__:___ pazses through the arigin. Which poing lies on this line?
a. (3, -1) b. -1, 3} @ 1) d. {3,1)
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17. Calculate: = Lm ) -
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18.Which expression is equivalant to the fraction shown below?
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19 vertex O of rectangle ABCD is kecated at (3, -6). A dilation of ABCE will result in the
image &'B'C'D'. If the dilatkon Is centered at the origin and has a scale factor of 2, what

D(3,~)~> D(3*2,~0¥2)

is the coordinate of 0'7?
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20.4 wystem of equations i shown balow.
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Wihich statement is about the ardered pair (1,2 | istrue? () 01001
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Mﬁ+mwu%
AN+5(2)=F

i i5 & solution bo the first but not the second equation,
t 5 ane of many solutions ta the system.

Itis not & solution Lo either eguation.
@i: the only sclution in the system.
1%+ 10y =
Y(-) +10(2)= Ve
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